In	Out
A) 0	A) 1
B) 2	B) 2

# Inmates by Facility: WCSO: 53 D&E: 1 Other: 0 TOTAL: 53

	innacts by Facinty. Web0: 55 Del. Fourier, o Form						
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
1	Wright, Dawson R. <b>BPD</b>	Burglary, Terroristic Threats, Strangulation, Attempt of Class 2 Felony, False Imprisonment, Child Abuse, Obstructing Police	09-02-24 2258	WCSO	01-25-99		\$1,000,000.00 10% \$100,000.00
2	Williams-Stevens, Toriano I. WCSO	3 <sup>rd</sup> Degree Domestic Assault, Use of a Weapon to Commit a Felony, Terroristic Threats	03-28-25 2000	WCSO	02-15-03		\$750,000.00 10% \$75,000.00
3	Kydney, Michelle L. WCSO	Poss. w/ Intent to Deliver, DUS, FTA, Poss. Controlled Substance	04-13-25 1750	WCSO	11-03-85		\$100,000.00 10% \$10,000.00
4	Perrenot, Brian S. WCSO	Poss. w/ Intent to Deliver	04-13-25 1729	WCSO	02-06-65		\$100,000.00 10% \$10,000.00
5	Frieze, Camden C. <b>BPD</b>	3 <sup>rd</sup> Degree Domestic Assault, Strangulation	04-10-25 2013	WCSO	06-20-56		\$85,000.00 10% \$8,500.00
6	Stubbs, John T. WCSO	Obstructing a Peace Officer, DUS, Willful Reckless Driving, Flight To Avoid	03-18-25 2240	WCSO	03-17-98		\$25,000.00 10% \$2,500.00
7	Urbanek, Keith J. <b>BPD</b> / Iowa Hold	Poss. Controlled Substance Iowa Warrant- Burglary 3 <sup>rd</sup> Degree, Theft 4 <sup>th</sup> Degree	02-25-25 0914	WCSO	01-27-96		\$15,000.00 10% \$1,500.00 Iowa Warrant- \$2,000.00
8	Shuster, Tiana J. BPD	3 <sup>rd</sup> Degree Domestic Assault, Child Abuse	04-07-25 1821	WCSO	10-30-04		\$10,000.00 10% \$1,000.00
9	Whitney, Erick M. <b>WCSO</b>	Poss. of a Controlled Substance	04-01-25 0316	WCSO	08-27-96		NO BOND
10	Collins, William P. WCSO	<b>Warrant-</b> Burglary, 1 <sup>st</sup> Degree Assault, Theft by Unlawful Taking, 1 <sup>st</sup> Degree Murder, Stolen Firearm Prohibited Act, Use of A Deadly Weapon to Commit Felony x2	09-14-23 1723	WCSO	07-25-93		NO BOND
11	Williams, Kierre L. <b>WCSO</b>	1 <sup>st</sup> Degree Murder, Use of a Weapon to Commit a Felony	12-10-23 1443	WCSO	08-02-80		NO BOND
12	Aurand, Zachery L. WCSO / Sentenced	DUI 1 <sup>st</sup>	04-09-25 1042	WCSO	10-21-85		<b>Release Date</b> 04-16-25 @ 0800

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
13	Evans, Ladonna WCSO / Sentenced	DUI 2 <sup>nd</sup>	04-02-25 1040	WCSO	02-21-85		<b>Release Date</b> 04-24-25 @ 0800
14	Plugge, Jay M. WCSO / Sentenced	Probation Violation	02-19-25 1022	WCSO	09-10-69		<b>Release Date</b> 04-24-25 @ 0800
15	Castillo-Saavedra, Daniel WCSO / Sentenced	DUI 2 <sup>nd</sup>	01-29-25 1225	WCSO	10-31-83		<b>Release Date</b> 05-04-25 @ 0800
16	Pirowski, Samuel K. WCSO / Sentenced	Warrant- FTA	02-26-25 0957	WCSO	12-29-81		<b>Release Date</b> 05-17-25 @ 0800
17	Axtell, Kaden M. WCSO / Sentenced	Probation Violation	03-25-25 0924	WCSO	05-13-96		<b>Release Date</b> 06-27-25 @ 0800
18	Allen, Andrew J. BPD / Sentenced	Warrant- FTA for Probation Violation	07-11-24 1007	WCSO	05-20-82		<b>Release Date</b> 07-16-25 @ 0800
19	Noffsinger, Derek L. Burt Co / Sentenced	<b>Burt Co-</b> DUS, Obstruction Police, DUI Aggravated, Theft by Unlawful Taking, Unauthorized Use of Propelled Vehicle	12-29-24 2147	WCSO	12-18-89		<b>Release Date</b> 07-07-25 @ 0800
20	Overton, Larry J. Burt Co	<b>Burt Co-</b> Poss. of a Deadly Weapon x2, Unlawful Discharge of Firearm, 3 <sup>rd</sup> Degree Domestic Assault, Criminal Mischief	12-07-24 1920	WCSO	01-12-85		\$35,000.00 10% \$3,500.00
21	Jensen, Jeremy D. <b>Burt Co</b>	Burt Co- Theft by Shoplifting	03-05-25 1337	WCSO	12-19-80		\$10,000.00 10% \$1,000.00
22	Johns, Jonathon R. <b>Dodge Co</b>	<b>Dodge Co-</b> Use of a Weapon To Commit a Felony, Assault, Terroristic Threats, Robbery, Poss. of Financial Transaction Device	02-25-25 1657	WCSO	12-27-97		\$85,000.00 10% \$8,500.00
23	Solberg, Victoria E. <b>Dodge Co</b>	<b>Dodge Co-</b> Vehicle Theft, Poss. Stolen Property, Resisting Officer	03-08-25 1449	WCSO	03-23-90		\$10,000.00 10% \$1,000.00
24	Davis, Ashley R. <b>Dodge Co</b>	<b>Dodge Co-</b> Possession of a Controlled Substance	04-12-25 0921	WCSO	01-30-98		\$10,000.00 10% \$1,000.00

	Name	Charges	Received Time	Housed/ Scheduled Court Date	DOB	P O	Bond Amount/ Release Date
25	Campbell, Madison Dodge Co	<b>Dodge Co-</b> Burglary, Poss. Controlled Substance, Theft by Unlawful Taking	04-04-25 1222	WCSO	08-29-02		NO BOND
26	Monaghan, Sally L. Dodge Co\WCSO Hold	Dodge Co- DUS WCSO Warrant- DUS	04-13-25 1255	WCSO	10-29-78		NO BOND
27	Peck, Britni B. Dodge Co / Sentenced	Dodge Co- DUI 4 <sup>th</sup>	03-02-25 0911	WCSO	06-28-90		<b>Release Date</b> 04-19-25 @ 0800
28	Freauf, Amber D. Lancaster Co	<b>Lancaster Co Warrant-</b> Poss. Controlled Substance x2, Resisting Arrest	04-04-25 0956	WCSO	07-19-84		\$15,000.00 10% \$1,500.00
29	Herrera, Monica A. Lancaster Co	Lancaster Co- Poss. Controlled Substance x2	04-01-25 1143	WCSO	11-27-89		\$5,000.00 10% \$500.00
30	Sanchez, Jasmine A. Lancaster Co	Lancaster Co- Assault	04-01-25 1111	WCSO	02-01-90		\$5,000.00 10% \$500.00
31	Smith, Cecilia L. Lancaster Co	Lancaster Co- Resisting Officer	04-01-25 1051	WCSO	08-18-96		\$5,000.00 10% \$500.00
32	Hayes, Tacy A. Lancaster Co / Jefferson Co Hold	Lancaster Co- Poss. Controlled Substance, Criminal Impersonation Jefferson Co Warrant- Poss. Controlled Substance	04-01-25 1109	WCSO	11-29-81		\$5,000.00 10% \$500.00 Jefferson Co- \$10,000.00 10% \$1,000.00
33	Minnick, Jessica B. Lancaster Co / Buffalo Co / Webster Co Hold	<b>Lancaster Co-</b> DUI 4 <sup>th</sup> , Interlock Violation, <b>Buffalo Co Warrant-</b> DUI 2 <sup>nd</sup> , <b>Webster Co</b> <b>Warrant-</b> Assault	04-04-25 1056	WCSO	04-20-82		\$50,000.00 10% \$5,000.00 Buffalo Co- NO BOND Webster Co- \$10,000.00 10% \$1,000.00
34	Rodgers, Mercedez C. Lancaster Co / Sentenced	Lancaster Co- Tamper w/ Physical Evidence	02-04-25 1036	WCSO	08-28-78		<b>Release Date</b> 04-20-25 @ 0800
35	Linkugel, Nicole M. Lancaster Co / Sentenced	<b>Lancaster Co Warrant</b> - Failure To Appear x3, Loiter and Trespass, Steal Goods Or Money	02-25-25 1132	WCSO	04-23-80		<b>Release Date</b> 04-22-25 @ 0800
36	David, Nyamai P. Lancaster Co / Sentenced	Lancaster Co Warrant- DUI 2 <sup>nd</sup>	03-28-25 1028	WCSO	09-07-96		<b>Release Date</b> 05-06-25 @ 0800

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Thulin, Sarah L. Lancaster Co / Sentenced	Lancaster Co- Theft by Shoplifting	04-04-25 1032	WCSO	06-23-83		<b>Release Date</b> 05-10-25 @ 0800
38	Stone, Tory L. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Poss. Controlled Substance, Tampering w/Evidence, Attempted Theft by Shoplifting	12-31-24 0946	WCSO	10-26-83		<b>Release Date</b> 05-23-25 @ 0800
39	Douville, Gimimila Z. Lancaster Co / Sentenced	Lancaster Co- Violation of Home Detention	04-04-25 1116	WCSO	05-10-02		<b>Release Date</b> 05-23-25 @ 0800
40	Labrum, Elizabeth M. Lancaster Co / Sentenced	<b>Lancaster Co Warrant-</b> Theft by Unlawful Taking, FTA	03-28-25 1024	WCSO	08-13-83		<b>Release Date</b> 05-28-25 @ 0800
41	Mesteth, Monique A. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Poss of Controlled Substance	03-28-25 1122	WCSO	03-31-86		<b>Release Date</b> 05-28-25 @ 0800
42	Wenzl, Rachel J. Lancaster Co / Sentenced	Lancaster Co- Probation Violation	03-28-25 1126	WCSO	07-20-92		<b>Release Date</b> 06-21-25 @ 0800
43	Brye, Tylina L. Lancaster Co / Sentenced	Lancaster Co- Intentionally Violate Narc Drug	03-28-25 1119	WCSO	08-06-87		<b>Release Date</b> 06-23-25 @ 0800
44	Ironcloud, Amanda R. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Attempted Poss. Controlled Substance, Warrant- Theft by Shoplifting x2, District Court- Poss. Controlled Substance	08-13-24 1000	WCSO	04-19-80		<b>Release Date</b> 06-24-25 @ 0800 <b>Appeal Bond-</b> \$2,000.00 Cash <b>District Court -</b> \$20,000.00 Cash
45	McNally, Elizabeth M. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Attempt Theft by Unlawful Taking	04-01-25 1023	WCSO	01-04-95		<b>Release Date</b> 06-30-25 @ 0800
46	Stoner, Brionna P. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Attempt Poss. Controlled Substance, Domestic Assault 3 <sup>rd</sup> Degree, Assault 3 <sup>rd</sup> Degree, Violation of Protection Order	12-03-24 1253	WCSO	02-02-98		<b>Release Date</b> 06-30-25 @ 0800
47	Ewing, Rhonda M. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	04-04-25 0958	WCSO	06-02-79		<b>Release Date</b> 07-01-25 @ 0800
48	Whitecrane, Angela I. Lancaster Co / Sentenced	Lancaster Co- Theft by Shoplifting	03-21-25 1011	WCSO	06-18-74		<b>Release Date</b> 08-18-25 @ 0800

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
49	Ice, Misty A. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Violation of Home Detention	03-28-25 1129	WCSO	05-22-79		<b>Release Date</b> 08-18-25 @ 0800
50	Kinnett, Aubrey A. Lancaster Co / Sentenced	<b>Lancaster Co Warrant</b> - Shoplifting x3, FTA, Theft by Unlawful Taking	11-22-24 1055	WCSO	05-25-86		<b>Release Date</b> 04-02-26 @ 0800
51	Hudson, Austin C. <b>OPD</b>	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
52	Kocian, Tyler J. Stanton Co	<b>Stanton Co-</b> Flight to Avoid, Assault on Officer, Willful Reckless Driving, Terroristic Threats, Misc Flight NSP	02-10-25 0605	WCSO	08-29-96		\$100,000.00 10% \$10,000.00
53	Boettcher, David W. WCSO	<b>Warrant</b> - Poss. Deadly Weapon by Prohibited Person, Poss. Controlled Substance, Use of Deadly Weapon to Commit a Felony, 1 <sup>st</sup> Degree Criminal Attempt of Assault, 2 <sup>nd</sup> Degree Criminal Attempt of Assault, Poss. Deadly Weapon, Child Abuse	01-15-25 1228	D&E	01-28-76		NO BOND
54							
55							
56							
57							
58							
59							
60							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61							
62							
63							
64							
65							
66							
67							
68							
69							
70							
71							
72							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							
86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							
98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							
110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							

Signed:

Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:

Signed: